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Topics ...,

( 1 | Theorem of Parallel Axis ./

(_2 Theorem of Perpendicular Axis ./

( 3 /  Angular Momentum and Its Conservation A

( 4 | Torque in terms of Moment of Inertia /



Theorem of Parallel Axes
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Theorem of parallel axes
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Theorem of Perpendicular Axes
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Angular Momentum or Moment of Linear Momentum ) Y
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Conservation of Angular Momentum @€ Y
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Gy
Expression for Torque in Terms of Moment of Inertia
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Expression for torque
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QUESTION )

Gy

Calculate the moment of inertia of a@ of mass 500 g and radius 0.5 m about
an axis of rotation passing through (i) its diameter (ii) a tangent perpendicular

to its plane..
@/ 0.25 kg.m? M= 0.5 ka
(B) 0.30kgm? R o= 0%
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Summary )
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Homework )

D Memorize State ment ob N b 1€ Ais Hreovrem

2) Revise all Previous Y pteq.

3) Qoblve all mumerxicalg mutl’u'ple Umes.






